BEfEH S 003F 118148

B (ADS2]

EUAYRI=DST

[={v] K B Bk | fE | Zem | GR | HDCP | NET s
B | 6F o 37 | 41 8| 60| 720
22 |fElE hA 38 | 40 78| 50| 730
3 BN 08 38 | 39 77| 10| 760
4 [0 1F 37 | 41 8| 20| 760
5 [/\B& B8X |39 |39 78| 20| 760
6 |58 @ 36 | 44 80| 40| 760
7Kt EZ 41 | 40 81| 50| 760
8 (WO fB— 43 | 37 80| 30| r7r0O
o |l [ET 40 | 41 81| 40| 7770
10 |8 EHI 38 | 45 83| 60| 77O
11 |BF 18 41 | 46 87100 | 770
12 | R B 44 | 45 89 (120 | 770
13 |#BE %EE 37 |40 77]|-10]| 780
14 |8 Sk 40 | 46 86| 80| r80
15 K B— 42 | 45 87| 90| 780
16 |6H 6% 45 | 43 88 100 | 780
17 B BF 42 | 42 84| 50| 790
18 | R¥ 20 | 41 911120 | 790
19 |WE BE& 46 | 37 83| 30| 800
20 |FA& B5A 43 | 42 85| 50| 800

FiRTIA HDCP

f= Uit-Il:

B5IRR: HOCPRE G- FREBIT
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BEfEH S 003F 118148

B (ADS2]

EUAYRI=DST

[={v] K B Bk | fE | Zem | GR | HDCP | NET s
21 | FORX 46 | 44 90 | 100 | 800
22 |EH BiE 46 | 46 921120 | 800
23 |&8 s 43 | 45 88| 70810
24 |Em 1BE 42 | 50 92 1110|810
25 %3 44 | 48 92 1110|810
26 |Ih&H & 49 | 44 931120 (810
27 WX TR 48 | 45 931|120 | 810
28 |&% i 43 | 42 85| 330|820
29 A B 43 | 49 921100 | 820
30 |NB W 45 | 49 94 1120 | 820
31 |28 [N 42 | 44 86| 300|830
32 |BR &8 45 | 50 951120 | 830
33 |kRE& 49 | 46 951|120 | 830
34 [ZB 305 48 | 47 951120 | 830
35 &8 E— 43 | 47 90| 601|840
36 |WE BAR 48 | 42 90| 60 |840
CYQIPN s+ 41 | 50 91| 70| 840
38 |6H #= 44 | 48 92| 80 (840
39 |[IH #FX 46 | 48 94 1100 | 840
40 |MH —F 45 | 49 94 1100 | 840

FiRTIA HDCP

f= Uit-Il:

B5IRR: HOCPRE G- FREBIT

28




BEfEH S 003F 118148

B (ADS2]

EUAYRI=DST

[={v] K B Bk | fE | Zem | GR | HDCP | NET s
41 |BH R o1 |45 96 |120 | 840
42 |EE  B— 49 | 46 95100 | 830
43 |7 BB 43 | 48 91| 50| 860
44 WA 1EE 44 | 47 91| 50| 860
45 |IRKX  — 44 | 48 92| 60| 860
46 |BR & 47 | 20 971110 | 860
47 W FE 48 | 49 971110 | 860
48 |MEIE =W 44 | 44 88| 1.0|870
49 TR B8 44 | 48 92| 40| 880
50 |EN X 44 |1 50 94| 60 |880
51 (IkEB ®WE 47 | B3 100 1120 | 880
52 |BO forh o2 | 48 100 (120 | 880
53 |HKX FHis o0 |47 97| 80|890
54 |WiE F 47 | 45 92| 20| 900
55 )\ F o0 | 48 98| 80| 900
56 2B =& 47 | 48 95| 40 (910
57 WX 5T 48 | 55 103 ({120 | 910
58 |lRB —& 50 | 48 98| 50| 930

FiRTIA HDCP

f= Uit-Il:

B5IRR: HOCPRE G- FREBIT

38




BEfEH S 003F 118148

BH#M (BOSX]

EUAYRI=DST

[={v] K B Bk | fE | Zem | GR | HDCP | NET s
B | 6X  BIL 40 44 1 84 (130|710
EER KRE 40 46| 86 (130 | 730
3 O = 44 49| 93 |180 | 750
4 |8 @77 45 45| 90 (140 | 760
5 |IIE& &= 42 48 | 90 130|770
6 |NWH B8R |47 44 1 91 (140 | 770
7 |FB i 47 48| 951|180 | 770
8 |HEefr EX 46 20| 96 (180 | 780
o |XIl BBs— 45 47| 921130 | 790
10 |t =L 45 51 96 |160 | 800
11 |BH 280 46 50| 96 |16.0 | 800
12 (B 71 47 20| 97 (170|800
13 |D0A%x  {88A 49 49| 98 |180 | 800
14 |BR ERTF |47 471 94 (130|810
15 |18 I 45 53| 98 (170|810
16 |68 M- 43 56| 99 (180|810
17 (O = 51 45| 96 (140 | 820
18 (@)l 1@z 46 51 971150 | 820
19 |[BA iBE 49 49| 98 (160 | 820
20 |MlR Efg 46 52| 98 (160 | 820

FiRTIA HDCP

f= Uit-Il:

B5IRR: HOCPRE G- FREBIT

18




BEfEH S 003F 118148

BH#M (BOSX]

EUAYRI=DST

[={v] K B Bk | fE | Zem | GR | HDCP | NET s
21 |&Kx B o1 49 1 100 (180 | 820
22 BB Rni& 46 55101 (180 | 830
23 |XtB & 44 55| 99 (150|840
24 |2l BZ 51 20 | 101 ({160 | 850
25 |BlIF & 55 48 | 103 |180 | 850
26 | K& K& o1 252 1103 (180 | 850
27 |EH KB 47 53 | 100 {140 | 86.0
28 |BW RS 48 52 1100 (140 | 860
29 |FRK 2B 25 49 | 104 {170 | 870
30 |&f@ BE 46 56 | 102 (140 | 880
31 |[higg = 44 o8 | 102 {130 | 890
32 | & o4 48 | 102 (130 | 890
33 |T17% B/ o4 20 | 104 {1560 | 890
34 'IR M=E o4 54 1108 (180 | ©00
35 |WF RSk 29 20 | 109 |16.0 | 930
36 |WHB BB 51 c6 | 117 (180 | 990
37 [Nk = 54 65| 119 (170 (1020
38 |RE £ 63 54 1117 {140 (1030
39 B8 = 59 62| 121 {170 (1040

FiRTIA HDCP

f= Uit-Il:

B5IRR: HOCPRE G- FREBIT

28




BEfEH S 003F 118148

B (COSX]

EUAYRI=DST

[={v] K B Bk | fE | Zem | GR | HDCP | NET s
B | KRB/l BR 50 |50 | 100 [|31.0 | 690
EE | BL = 46 |49 | 951|230 | 720
3 (Wi KH 49 |85 | 104|320 | 720
4 |k = 48 |49 | 97 |230| 740
5 |8 RE 82 |47 | 99 |230| 760
6 |&B [F 80 49| 99 (210|780
7 |e8 8= 49 |51 | 100|210 | 790
8 |®EB BRI 5545|100 [190 | 810
o |k #2857 855|562 | 107|260 | 810
10 |8 = 5548|103 |210 | 820
11 |BM 28 52 |60 |102 190 | 830
12 |85 1B 53|50 | 103|190 | 840
13 |&@L = 56 |50 | 106 220 | 840
14 |[RIR BE 55|56 111 (270|840
15 (B B35 853|589 | 112 (280|840
16 (WA —F 5756|113 280 | 850
17 |88 & 53|68 | 111 250 | 86.0
18 |HAfE 1E5% 57|57 114 250 | 890
19 |18 =— 55|60 |115(240| 910
20 |&% & 859 |63 112190 | 930

FiRTIA HDCP

f= Uit-Il:

B5IRR: HOCPRE G- FREBIT
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